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Choose the most correct answer fo Questions  1-13

(a} _ + Y (b} ‘@"f 15} | 7 (d) %4
’LT»I —p~ I - _Z""‘v _. I / \+I
/ B - _
i f
(2} ¥ = 7
s ) g Y. ¥
{(a}"; *;’L’ . b} Iy {¢) j ) {d} )
ﬂ -~ X P s -
3) y=x3 )
() 4y
oy = - - -
b
(2} L (b} Y {c) X ‘(‘d) qr
5y ¥y = -x | : -
(2} Y R {b) ‘L‘y {c} JPY \[d)‘ g ¥
S o — X — X £ I

7



{d}

|

() ) \PY/
X = I
gy =L x> -
{a} C oy () - [!’ (e} r () ‘Lf
. r /}\ - X X Fi
( ) Which of the followipf graphs bost epresents y = __x_.g
'»_f" ?
1o reo oy §r o 4 ich r
&.’L / . .

.' - (}G) Which g}aph couid best representy = 2x — {?

LY ¥ ‘_Y : AV

x \ PR j X

N

5

a
Y.
(A} X - 2y
. {B) 2r - ¥
“‘\ N
. R Q) x+ 2

(DJ X + ¥

+

The equanon of the line mis

10 = 0
5 =0
10 =0
S0




@1) The graph y = 2x? + b passes through the point (-3, 4).
What is the valoc of £7?
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The coordinates of Lhé:point P are

(A) (-2, 4) (B) (-4, 2)
(©) (-4, 16) ) (16, 4)
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For the expression .xy =12, answer the following goestions
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i Fill in the table below /
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ii Sketch the expression on the axes below labelling any asymptotes
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Each graph clearly and showing any intercepts with the axes.
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On the same set of axes below sketch the graphs ¢f y=4"and y =47, labelling
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i For the function y =(x ~2) —3: - i

1. Find the equation of the axis of symmefry

il Find the coordinates of the vertex
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' . {it Graph the function, showing the information above and also
s awny intercepts with the axes. ( Nate: Pléase give the x intercepls in exact
: vdlue form) ' .
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i If 0" <x<90°, show that sin(00° — x) =cosx /S

( Fiint: Start with a right-angled triangle and let one of the other angles be x)
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%&ﬁﬁ"ﬁh‘é"ﬁraﬁi‘e of @ ic the nearest minute ’
i




c. A large padiock has dimensions shown. Calenlate the length of CD
( correct to the nearestm ).
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